
DAV PUBLIC SCHOOL, UNIT-VIII, BHUBANESWAR 

SUBJECT-MATHEMATICS, CLASS-V 

CHAPTER-9 (ROUNDING OFF NUMBERS) 

WORKSHEET (BASIC) 

TIME – 45 Min.       MAX MARKS – 20 

Choose the correct option:       (2x1=2) 

1. 4358 rounded off  to the nearest hundred is ____ 

 i) 4000  ii) 4400   iii) 4300    iv) 4350 

2. The sum of 63 and 21 rounded off to the nearest ten is ___ 

 i) 90  ii) 84  iii) 80  iv) 95 

Fill in the blanks:        (2x1=2) 

3. While rounding off numbers to the nearest hundred, we look at the digit in 
the ______ place. 

4. The number 6974.528 correct to two places of decimal is ____. 

Answer the following questions:      (2x1=2) 

5. Round off 48.549 to the nearest hundredth. 

6. Round off  6.0 and 99.7 to the nearest ones and then find the sum . 

Short Answer Type Question-1:                                                  (2x2=4) 

7. Add 55,41,203 and 23,00,645 and round off the sum to the nearest ten lakh. 

8. Round off the difference of 7,56,438 and 4,13,023 to nearest lakh. 

Short Answer Type Question-2:      (2x3=6) 

9. Simplify the numerical expression given below and round off the answer to 
the nearest tenth:  108 ÷ 12 + 4.65 

10. Find the product of smallest 3 digit number and 263 and round off the 
product to the nearest thousand.  

Long Answer Type Question:       (1x4=4) 

11.  The product of two numbers is 2,55,050 , if one number is 25 , find the 
other and round off the answer to the nearest hundred. 

_______________________________________________________ 

 

 



DAV PUBLIC SCHOOL, UNIT-VIII, BHUBANESWAR 

SUBJECT-MATHEMATICS, CLASS-V 

CHAPTER-9 (ROUNDING OFF NUMBERS) 

WORKSHEET (STANDARD) 

TIME – 45 Min.       MAX MARKS – 20 

Choose the correct option:       (2x1=2) 

1. 6.483 rounded off to the nearest hundredth is ____ 

 i) 6.480  ii) 6.500   iii) 6.490    iv) 6.580 

2. Rounding off  2899 to the nearest hundred place is ______ 

 i) 2800  ii) 2900  iii) 2890  iv) 2990 

Fill in the blanks:        (2x1=2) 

3.Rounding off 48.95 to the nearest tenth place is______ .  

4. If the digit in the ones place is 0, 1, 2, 3 or 4, we round off to the nearest 
multiple of ten which is _____ than the number. 

Answer the following questions:      (2x1=2) 

5. Round off 16,420 and 4,500 to the nearest thousand, then find the difference. 

6. Round off  8,593,443 to the nearest lakh. 

Short Answer Type Question-1:      (2x2=4) 

7. Simplify the numerical expression given below and round off the answer to 
the nearest tenth:  15 ÷ 5 x 2.36  

8. Find the sum of 2,68,432 and 5,43,600 and round off the sum to the nearest 
ten thousand. 

Short Answer Type Question-2:      (2x3=6) 

9. Round off the difference of 28.251 and 30 to the nearest hundredth.  

10. Round off  923.07 and 541.53 to the  nearest ones and find the product. 

Long Answer Type Question:       (1x4=4) 

11. Divide 90,748 by 196 and round off the quotient to the nearest tens. 

________________________________________________________ 

 

 

 



DAV PUBLIC SCHOOL, UNIT-VIII, BHUBANESWAR 

SUBJECT-MATHEMATICS, CLASS-V 

CHAPTER-9 (ROUNDING OFF NUMBERS) 

WORKSHEET (ADVANCE) 

TIME – 45 Min.       MAX MARKS – 20 

Choose the correct option:       (2x1=2) 

1. 8999 rounded off to the nearest ones is ____ 

 i) 8000  ii) 8900   iii) 9000    iv) 8990 

2. Rounding off 269.98 to the nearest tenth is _____ 

 i) 269.00  ii) 270  iii) 269.90  iv) 270.90 

Fill in the blanks:        (2x1=2) 

3. The smallest number rounded off to the nearest hundred to get 8,600 is ____. 

4. Using the digits 6,9,0 and 8, the smallest 4-digits number formed , rounded 
off to the nearest hundred is _____.   

Answer the following questions:      (2x1=2) 

5. Round off the difference of 5,000,120 and 93,000,210 to the nearest crore.   

6. Round off the successor of 88,99,999 to the nearest ten lakh. 

Short Answer Type Question-1:      (2x2=4) 

7. Simplify the numerical expression given below and round off the answer to 
the nearest ones. 5.3+1.5 ÷ 5 x 2   

8. Sum of two decimal numbers is 0.9.If one of them is 0.485, find the other. 
Round off the answer to the nearest hundredth. 

Short Answer Type Question-2:      (2x3=6) 

9. Round off  the sum of 89.439 and 48.6, correct to two places of decimals. 

10. Round off 234.567 and 23.64 to the nearest tenth, then find the product. 

Long Answer Type Question:       (1x4=4) 

11. Divide 860.35 by 2.5 and round off the quotient to the nearest ten. 

 

 

 

 



DAV PUBLIC SCHOOL, UNIT-VIII, BHUBANESWAR 

SUBJECT-MATHEMATICS, CLASS-V 

CHAPTER-9 (ROUNDING OFF NUMBERS) 

WORKSHEET (HOTS) 

TIME – 45 Min.       MAX MARKS – 20 

Choose the correct option:       (2x1=2) 

1. 99,999 round off to the nearest thousand is ______ 

 i) 90,000  ii) 1,00,000   iii) 99,000    iv) 99,900 

2. Round off the number 9.989 to the nearest tenth is ______ 

 i) 10   ii) 9   iii) 9.9  iv) 9.98 

Fill in the blanks:        (2x1=2) 

3.The greatest number rounded off to the nearest thousand to get 78,000 is 
____. 

4. 999 rounded off to the nearest ____ is 1000. 

Answer the following questions:       (2x1=2) 

5. The distance between the Sun and the Earth is 149.598 million km. Round off 
the distance to the nearest tenth.  

6. Round off the difference of the greatest 5-digit number and smallest 4-digit 
number to the nearest ten thousand. 

Short Answer Type Question-1:      (2x2=4) 

7. Population of a state is 34,678,890 and other state is 56,786,000. Find the 
total population of the two states and round off  the sum to the nearest crore 

8, Divide the sum of 2540 and 600 by 32 and round off the quotient to the 
nearest ten. 

Short Answer Type Question-2:                                                 (2x3=6) 

9. Monthly salary of  Mr. Kumar is Rs. 25,500. Find his salary for 9 years and 
round off the answer to the nearest ten lakh. 

10. Product of two numbers is 0.0075 and one number is 0.5. Find the other. 
Round off the answer to the nearest hundredth. 

Long Answer Type Question:       (1x4=4) 

11.Mohan runs 4.675 km daily in the morning. How many kilometres will he 
run in a leap year ? Round off the answer to the nearest ones. 



________________________________________________________ 


